AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

■ FEDERAL CANDIDATE

☐ STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and	d Location:			Date:	9/14/2018
KAPE-AM					
I, Screen Strate	egies Media				
being/on bel	nalf of:	Caskill			,
a legally qua	lified candidate	of the	ratic		
	y for the office o				
in the General	l				
election to be	e held on: 11/6/20	D18 			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks

Attach proposed schedule with charges (if available): \$170.00

I represent that the payment for the above described broadcast time has been furnished by:

McCaskill for Missouri

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Michelle Sherod

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

9/14/2018	1/h Oxt	
Date	Signature	
То В	e Signed By Station Representative	
Accepted	□ Accepted in Part	□ Rejected

Signature Down E Johns
Printed Name

Title

	Sep 14, 18	
CONT#	32156904 Mod# Ver#1 (Last =)	DDS CONT# 0
REP	KATZ RADIO	C/P/E: McCS / MO / 4223
TO	KAPE-AM (Cape Girardeau, MO)	
FM	PATRICK MCGEE	
OFF	PHILADELPHIA	SALESPERSON FAX#
AGY	SCREEN STRATEGIES MEDIA	
ADDR	11150 FAIRFAX BLVD SUITE 505	PH #
	FAIRFAX, VA 22030	
BYR	DAMARIS PARIS	
ADV	CLAIRE MCCASKILL FOR US SENATE	
PDT	Claire McCaskill for Senate	
FLT	Sep 18, 18 - Sep 24, 18	

^{*} REP ORDER COMMENT *

^{** 9/14/2018 1:22:00} PM: THIS IS A NEW ISSUE/POLITICAL ORDER. PLEASE NOTE THERE IS A 24 HOUR CANCELLATION POLICY ON ALL ISSUE/POLITICAL ORDERS. PLEASE CONFIRM WITH MICHAEL.MERGET@KATZRADIOGROUP.COM OR CALL 215-557-4208. THANK YOU!

MC	LN	DAYS	TIME	LEN	EFFECTIVE DATES	# OF Day	NPD	RATE	TOT SPTS
	1.1	FLIGHT 1 .T	6A - 10A	60 ** FL	09/18/2018 - 09/18/2018 IGHT TOTALS **	1D	2	\$20.00 \$40.00	
	2.1	FLIGHT 2 W	6A - 10A	60 ** FL	09/19/2018 - 09/19/2018 IGHT TOTALS **	1D	2	\$20.00 \$40.00	
5	3.1	<u>FLIGHT 3</u> T	6A - 10A	60 ** FL	09/20/2018 - 09/20/2018 IGHT TOTALS **	1D	2	\$20.00 \$40.00	
	4.1	<u>FLIGHT 4</u> F	6A - 10A	60 ** FL	09/21/2018 - 09/21/2018 IGHT TOTALS **	1D	2	\$20.00 \$40.00	
	5.1	<u>FLIGHT 5</u> M	6A - 10A	60 ** FL	09/24/2018 - 09/24/2018 IGHT TOTALS **	1D	2	\$20.00 \$40.00	

Sep 14, 18
CONT# 32156904 Mod# Ver# 1 (Last =)
REP KATZ RADIO

DDS CONT# 0

C/P/E: McCS / MO / 4223

	Sep 18	
SPOTS	10	
CASH	200.00	
TRADE	0.00	
NSL	0.00	
TOTAL	200.00	
CDOTC		TOTAL
SPOTS		10
CASH		200.00
TRADE		0.00
NSL		0.00
TOTAL		200.00

** Competitive Comments **

SVC: FA06 TSA CustRadio

Demo Adults 35+

Nondiscrimination -Paragraphs 49 and 50 of the United States Federal Communications Commission's Report and Order No. 07-217 provides that broadcast stations' advertising contracts will not discriminate on the basis of race or ethnicity, and must contain nondiscrimination clauses. Consistent with this order, Katz Communications, Inc. (including any subsidiary or division of Katz) does not discriminate in any broadcast advertising contract on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.

KGMO 10 X KAPE 100 KREZ 104	0.3	WITHERS BROADCASTING PO BOX 558 CAPE GIRARDEAU, M0 63702						KBXB KBHI	10	7.1		P	O BC)X 9	07	ADCASTING 63801		BROADCAST ORDER AGREEMENT										
KYRX 97.		}						H	KHKV	HRW 92.9								NO#	18178	181780								
WKIB 9		WZZL 106.7											110 #	1017							-	_						
KJXX 92									WREZ	Z 10	5.5						_											
ACCOUNT	# 												_		CLIENT	ORD	ER DA	ΤE		_ 5	9/17/	201	8					
CLIENT	_		CLAIR										E				X RENE	EWAL	STAF	RT DAT	Έ			9/18/	201	8		
AGENCY	_								GIES							NATIONAL END DATE 9/24/2018												
ADDRESS			111.						/D. SU		: 50)5				_	V			MATE :			CS 	/MC)/42	23		
F-8-6-11					FAI	Kr.	AA	, V <i>F</i>	2203	U	-					-	X BROA		- 00-0	P PRO	טט	CI					-	
EMAIL TELEPHON	F							-			1100					-	BILLII	NG		1		-					-	
BUYER					Г	ΑN	1RI	SP	ARIS			***				-	CALE	NDAR	2							10		
ACCT. REP									TICAL							_	BILLII											
SEND INVOICE T	O:	X	CLIENT AGENCY	RA [*]	TES:		X	GR0 NET		OR	DER	TYF	E:	X X	4	LING		ENT EDS:	COPY X TIME S	HEET/CO	-OP		cor	NFIRI	MAT	ION		
START DAT		I IME/CLASS			:30	:60			CART#	М	т	w	ТН	F	SA	su	TOTAL WEEKLY	RATE	cos	Т	KGMO	KAPE	KREZ	KYRX	WKIB	XXIX	KBXB	
9/18-9/21			6A-10A			X					2	2	2	2			8	20.00	\$160			Х						
9/24/2011	3		6A-10A		⊢	Х		_		2			-	-	┡	-	2	20.00	\$40.	00	<u> </u>	X		\square			L	
					-			-		\vdash	\vdash	-	\vdash	+	╁	+					\vdash	Н		\vdash	_		┝	
	·····									Г			T	T	T							\Box			_		H	
					_	_	\vdash				-	_	┼	\vdash	-					<u> </u>						L		
						-	-	-		╁	┢	-	\vdash	╁	╁	+-		-				H		\vdash	-	-	\vdash	
											T		\vdash	T	T	f	f					H	\vdash				H	
									2000																			
													L.,	L.	L	<u> </u>	L							Ш				
	JANUA	RY	FEBRUARY	,	MARC	н		APRII		MAY	,		JUN		Г		100.7 KGMO			92.3 KJX							I	
BROADCAST									\dashv						1		100,3 KAPE	\$	200.00 97.9 KBXB									
CALENDAR		_				_									1		104.7 KREZ		92.9 KHRW									
	JULY		AUGUST	SEI	PTEM	BER	0	OCTOBER NOVEMBER DECE					CEM	BER			97.3 KYRX		107.1 KBHI									
BROADCAST				\$	200.0	00								-		96.5 WKIB												
CALENDAR												L			J		GRAND TOTA	L \$ \$	200.00	GRAND	ОТА	L \$			1.00.00	•	l	
STATIONS:					KAPI	Ξ								PAG	CKA	GE N	AME:			 							i	
COMMERCIALS F	PER STA	TION	:					10	-				-	PAG	CKA	GE R	ATE:			CON	иво	Ш		SING	SLE			
COMMERCIALS F	PER STAT	TION	USED:					10						RA [*]	TE B	REA	KDOWN:											
COMMERCIALS PER STATION								-		***				- PSS (1)														
Payable monthly upo- collection and/or attor advertiser agrees to a This station does not not buying broadcast origin, or ancestry.	ney fees re all terms an discriminat	equire d con e in th	d to collect amou ditions on both s e sale of adverti	unts d sides ising	due. Tof this time, a	his co agre and w	ontrad emer ill acc	ct is si it. cept n	ubject to al o advertisir	l Fede	eral, S ich is	itate a	and M	funicij n an ir	pal la ntent	ws and	d regulations nov criminate on the I	vin force, or vo	which may be gender, or eth	enacted in I	the fui ertiser	ture. I	By sig	gnature rtifies (e belo Ihal it	is		
WITNESS our har	ds and se	eals t	he day and da	ate fi	rst at	ove	writt	en.								-	r arming year						F	ADVE	RTIS	SER		
									20 80						-	BY	<u> </u>	A STATE OF THE STA					× -		FFIC	ED		
RATE APPROV	A.1		TVE				2017 - 20-2117								29	DA	TE:								, , , ,	I\		